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3. 7IE YzEEI =39 oA
O 7|E VL8 =
4. &Y= HE I XY
O AFER-AA=
5. iz EE UE
O X FFE& 7IE AF AFAGANN A E= AR ol Hlste] F7F
68%, A& Tl 67% STH AFA Ao A FFolATt
O F3TWH 10aT 7 2 AEFF Hl
=
0 PCES HESe
% AF2171(6. 25), £27](10. 31), AE FF : 70 x 20cm
6. IZEE Jit==2
O dAl AuiEe AHW) FFO Hlete ‘FFH FFO] 10aT FHO
2,000kg SFH™ AF AE 71 3FAA A28 LF0E kgD 3909 O
Fufsta gle] 10a% 780,0009 4= Fdi
O ZAd #£4(10a 715)
£ 24(A) |94 2(B)
o1 6. o T7t5 = °]¢
bl - ¢ F7F : 2,000kg
2,000kg> 3909 /kg = 780,000¢
o FAFJH(B-A) : 780,000




